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1. �����		
����
����� 
 1.1 ���	��������
���������
��������  ("#��#� ) 
   %��"�����
&��	
&� =  
 
 1.2 ���	��������
���������
 KVA  ,�-#�"�	����./,���0%��0�
����� %��������%1�����12�130	
�
1�"���/4���
  %���
�����"����
�5,�%��"�����
&��	
&�  0��

6  (���1�	7���8 100%)   
  1.2.1 ��������%1���  (���1�	7���8 100%) 
   %��"�����
&��	
&� = 
 
  1.2.2 ��������%11��� (���1�	7���8 100%)  ���,
0  COSØ  =  0.8 
   %��"�����
&��	
&� = 
   (V   =  220  Volt) 
   %��"�����
&��	
&� = 
   (V  =  380 Volt) 
   ( √3  =  1.732) 
  1.2.3 ��5
���
"#��#� ��������� �"�"
 Nameplate  %��  Catalogue  ,�-#"
  Nameplate  %��  
Catalogue  %��L���w�"��0���""���N�
	
����	���#3�1�,���"&#"���/,�0���
�
������O1#�  0��

6 
   (1) ��0 Frame Size T#�"#��#�   %����#���� Frame Size  	
���0�0����	
&�,�%��"��
��"�����	
� 1 
   (2) ��0 No Load Current, Voltage  	
�/4����"#��#�   RPM Pole  O��
�6

��������� \ 
	
��0����	
&�,�%��"����"�����	
� 2 
   (3) ��08-6
	
�,
����0T#�T�6�%"��,�.�  ��0�1�
L��]2
& ����T#� Rotor,  RPM Pole 
  /
��5
	
��O��,
��	
�1�"������O1#���"T�# (2) %�� (3) �0� /,�0���
�
���%����.�T�#"2�
������
1���� 
 1.3 ���-�#�/4������	
���
�&�������"��#
  �4�
  Heater  ,�-#���-�#�43���,�,�-#1���	
�����&��
����"�

���%��"�����
&��	
&��,"-#
T�# 1.2.1 %�� 1.2.2  %��/,���0���1�	7���8�8
&� 60%  T#������������ (Input) 
 
 

��������  
0.746 

,�-# 
KVA 
0.746 

VxA 
746 

,�-# 
KVA x 0.8 
0.746 

VxAx0.8 
746 

VxA x 1.732 x 0.8 
746 
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 1.4 ���-�#��4-�#"�����  ����"�
O��T
�0	
�/4�%#"%�� 12�130T#����-�#� 0������� 
 

80 %#"%��  = 4.5 %��"�� 
100 %#"%��  = 5.5 %��"�� 
150 %#"%��  = 8 %��"�� 
180 %#"%��  = 9 %��"�� 
200 %#"%��  = 11 %��"�� 
250 %#"%��  = 14 %��"�� 
300 %#"%��  = 17 %��"�� 
400 %#"%��  = 26 %��"�� 
500 %#"%��  = 32 %��"�� 

 
 
 1.5 1��,������-�#� Spot Welding  ����"�
O��T
�0 KVA T#�T�# 1.2  %����0������1�	7���8 
                     �8
&�20%                                                                                                                                                                                                                                                                                                                                              
 1.6 ���-�#�43���,�  (Plating) 
  1.6.1 Out put Voltage  T#�,"�#%��� (Rectifier)  =  12  V.D.C.  (�����%1���)  
           �0&��0��� Efficiency �	����� 60%   ����"�
%��"�����
&��	
&����0������� 
     
                                                               Out Put Voltage  =  12  V.D.C. 

%#"%��  %��"��  %#"%��  %��"�� 
30 0.28  400 3.86 
50 0.48  500 4.82 
60 0.57  600 5.79 
100 0.96  750 7.23 
200 1.93  1,000 9.65 
250 2.41  1,500 14.47 
300 2.89  3,000 28.95 
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  1.6.2 Out Put Voltage  T#�,"�#%���  (Rectifier)  =  15  V.D.C.(�����%1����)                                                                                                                                                                                                                                  
           �0&��0��� Efficiency �	����� 60%   ����"�
%��"�����
&��	
&����0�������  
                                                      
                                                       Out Put Voltage   =   15  V.D.C. 

%#"%��  %��"��  %#"%��  %��"�� 
30 0.36  400 4.82 
50 0.60  500 6.03 
60 0.72  600 7.23 
100 1.20  750 9.04 
200 2.41  1,000 12.06 
250 3.01  1,500 18.09 

 
2. �����	������� \  
 2.1 ���#� 
  2.1.1 ���#�	�����  ����"�
O�����"����#�
#�T#����#��0&�-#���  
    1   �2���]� �"��  = 2  %��"�� 
 	�6�

6  �"�������#�O�/4��4-6#�8���#���  �0�%��  O��8�����#�T
"  ���#�	
�/4���
/
	��
#��0
&���
  
&����
���#�	
�/4������kl��	������  KW  %��� 
  2.1.2 ���#��"� 
   2.1.2.1 /
��5
/4�,"�#�#
6��1��,���/4�������#��"�#&����0
&�  /,�����"�
%��"��
�m8�����#��"��	��
�6
  �0&����"�
O�����"����#�
#�T#����  /,��-#��� 
    1   �2���]� �"��  = 0.12  %��"�� 
   2.1.2.2 /
��5
	
�
���#
6����/4�������-�#�O���#&���#-�
  ,�-#/4���
#&���#-�
0��&  

#��,
-#O�����#��"� /,�����"�
%��"��O��,"�#�#
6�� %���8
&�#&����0
&� 
   2.1.2.3 ���#��"�	
�/4��4-6#�8���#&���#-�
  �4�
  �"��#
O�����-�#�L����"��#
  ,�-#
���"��#
O������L����
  �n
  %���  ,�-#T
6��-�#&  ���
��
  /,�����"�
%��"�����
&��	
&��0&����"�
O��
���"����#�
#�T#����  �0&/,��-#��� 
    1   �2���]� �"��  = 0.12  %��"�� 
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 2.2 ���#�6���� ,�-#���0�
�L�	�����  ����"�
O���1�
L��]2
& �����0&�m�
�&T#����  0��

6 
  2.2.1 ����1�
L��]2
& �����0&�m�
�&T#�����"����
 40 �k
���"��  ����"�
%��"�����
&��	
&�
����� 0.25 %��"�� 
  2.2.2 ����1�
L��]2
& �����0&�m�
�&T#�����"����
 40 �k
���"�� %���"����
 100 �k
���"��  
����"�
%��"�����
&��	
&������ 0.5 %��"�� 
  2.2.3 �1�
L��]2
& �����0&�m�
�&T#����"������ 100 �k
���"��Tl6
��  ����"�
���
&��	
&�
%��"������� 2 %��"�� 
  	�6�

6  �0�%��  ��
������O��8�����������%�  ���-�#�&������� \  ����L��,�.� (/4����
)   
���
l���o�&��
p&� (/4���	�)  �����
�&�
6�����	��&%0�  ����L�	
�/4����
/
	��
#��0
&���
 
 2.3 ����L�#�N O�O��%
�##����
 2 4
�0  �-#  
  2.3.1 ����L����� (����L�	
�"
���q5��r0	l�)  ����"�
%��"�����
&��	
&�O�����"����#�

#�T#����  �0&/,��-#��� 
    1   �2���]� �"��  = 0.25  %��"�� 
  
#�O��

6����L�/
���q5��0
&���
  �./,�����"�
%��"�����
&��	
&��0�%��  ����L��#��  
����L����-�#��st
0�
�L�  ����L��2
T��  ����L�/
���q5��0
&���
 
  2.3.2 ����L�4
�0�"����� (�#�#�N0�
"���#���
�2����)  ����"�
%��"�����
&��	
&�O��
���"����#�
#�T#����  �0&/,��-#��� 
    1   �2���]� �"��  = 0.1  %��"�� 
 2.4 �����"/�&�12�  ����"�
%��"�����
&��	
&�O��T
�0���"���T#�,�#���"/�&�12� �0&/,��-#��� 
    1   �2���]� �"��  = 0.05  %��"�� 
 2.5 ����"���
&��  ����"�
%��"�����
&��	
&�O��T
�0���"���T#�,�#��"���
&�� �0&/,��-#��� 
    1   �2���]� �"��  = 0.1  %��"�� 
 2.6 ���,�#"��,�  (
#�O����������	
�	�������������� #&2�%���)  ����"�
�0&O���#�	���
��&���#
&0  0����#��

6 
  (�)  4
�0T#���,�	
�/4�,�#" 
  (T)  
6��,
����,�	
�/4�,�#"��."	
�/
%�������6� (�������") 
  (�)  ����	
�/4�,�#"%�������6�  (4����"�) 
  %��"�����
&��	
&� = 
6��,
����,�	
�/4�,�#"%�������6�  x  �����	
� 
                 ����	
�/4�,�#" 
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         �����	
�T#���,�	
�/4�,�#" �0&��0�����,�%����4
�0��#�������"��#
�	��/0/
���,�#"���/
����
,
l��4����"� ��#
6��,
�� 1 �������" kl��,��0�O�������  0��

6 
 

����������� ������	� ������	����� 

#�2"��

&" 0.4 0.36 
�,�.�,��# 0.3 0.35 
	#�%0� 0.3 0.23 
	#��,�-#� 0.2 0.19 
1����1
 0.1 0.09 
������ 0.03 0.03 
0
�3� 0.05 0.04 
	#���� - 0.07 
���
 - 0.12 

 
 ���
���� 1. ��5
�����
	
��0����#
3v��#&2��0�"/,�/4������	
��0�" 
   2. ��5
�����
	
�T##
3v��/,"�/,�/4������	
�/,"� 
 2.7 �����"���-#1�
�7��   �������"�
%��"�����
&��	
&�  (HP)  /,���0O�����"���
6�����-#	
����,&
##���  �0&�-#��� 
 ���"���T#�
6��	
����,&##���  1 ��.�"��  =  35.7  HP 
 ���#&��� �����"���-#T
�0  1.8  ".  x  6  ".  x  0.25  ". O�"
  HP  �	���� 
   *  ���"���
6�����-#	
����,&##��� 
   =  1.8 ". x  6 ". x  0.12 ".  =  1.30 "3 * 
       1 ��.�"��  =  35.7  HP 
   =  1.30  ��.�"��  =  35.7 x  1.30  =  44.4  HP  (%��"�����
&��	
&�) 
 ���
���� ������"
6�����-#��#
��"O����
��	��l���0��12�130  =  22  k".  %����"O
�,�-#
��0��
6�����-#12�O����
��	�  =  10 k".  0��
�6
  O����

6�����-#	
����,&##���  =  12  k". 
   1   ��.  = 2.205 �#
0  
   1  ��.". = 1,000   �������" 
   1  HP  = 2,545 Btu/h 
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3. �����	�4-6#�8������� \ 
 3.1 GAS    %��"�����
&��	
&�         =              Kg/hr  x  2.2 lb/kg  x  22000  Btu/lb  x  0.2 
                             2545  Btu/hr 
    HP.             =           3.8  x  ?  kg/h 
                                                                                =           3.8  x  ���"�5���k	
�/4�/
1 4".,
��&���
 ��. 
 3.2 
6��"�
�k��� %��"�����
&��	
&�          =               L/hr  x  0.8  kg/l  x  9000  Kcal/kg  x  0.2 
               641.2  Kcal/hr 
    HP.            =             2.25  x  ?  l/h 
                                                                               =   2.25  x  ���"�5
6��"�
�k���	
�/4�/
1 4".,
��&���
���� 
 3.3 
6��"�
���  %��"�����
&��	
&�        =        L/hr x 2.2 lb/l x 0.84 (�.8.) x 19900 Btu/lb x 0.2 
                 2545  Btu/hr 
    HP.            =       2.89  x  ?  l/h 
                                                                               =       2.89  x ���"�5
6��"�
���	
�/4�/
1 4".,
��&���
���� 
 
 3.4 
6��"�
��
k�
  %��"�����
&��	
&�     =         L/hr x 2.2 lb/l x 0.9 (�.8.) x 19200 Btu/lb x 0.2 
             2545  Btu/hr 
    HP.          =     2.99  x  ?  l/h 
                                                                             =   2.99 x ���"�5
6��"�
��
k�
	
�/4�/
 1 4".,
��&���
���� 
 
 3.5 ���-�#��4-�#",�-#��0��,�0��&���k   ��0O��O��
�
�2�1�&	
�/4��4-�#",�-#��0��,��2�1�&�� 2 %��"�� 
 
4. �����	���-�#�&
� 1�
0����&/
 
  /
��5
	
����
���-�#�&
� ����  ,�-#�"�1�"���	
�O�,�,���N�
���3������%��"��/,����O1#�
���q5����	����
���
 ���-�#�&
�  2 O��,�� ,�-# 4 O��,�� 
  �0&/4�12�� ���-�#�&
�   4  O��,�� 
    ������%��"��  (BHp) = Pbmep LAN x  O��
�
12� 
         2 x 33,000 

  ���-�#�&
�   2  O��,�� 
    ������%��"��  (BHp) = Pbmep LAN x  O��
�
12� 
         33,000 
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 Pbmep �-#  ������"0�
�m�
�&	
�,��12�  kl���0�,��������1�	7���8	���4����%��� 
        (Brake  mean  effective  pressure)  "
,
��&���
�#
0 ��#�����
�6� 
  L �-# ��&�4���4��  (Stroke)  "
,
��&���
�3� 
  A �-# 8-6
	
�,
����0T#�����#�12�"
,
��&���
�����
�6� 
  N �-# ���"��.��#�T#����-�#�&
�  ���
�#���#
�	
 
 

����������� ������ � 

(���/���	) 

Pbmep 

(Psi) 

1. ���-�#�&
� 0
�k��#���.� 1,800 85 
2. ���-�#�&
� 0
�k���
���� (1-2 12�) 700 100 
3. ���-�#�&
� 0
�k��#�4�� 200 75 
4. ���-�#�&
� ��
k�
/4������&
�  4,000 110 
5. ���-�#�&
� ��
k�
/
���#3�1�,���"%����
,
��%	����#�  1,800 100 
6. ���-�#�&
� ��
k�
T
�0��.� 3,000 70 
 
5. �����	,"�#�#
6�� 
 5.1 %��"��,"�#�#
6��  (Boiler  Horse  Power)  ��0	
�  50%  T#�  Boiler Rating 
   BHp = 13.2 = 6.6 %��"�����
&��	
&� 
       2  
   %��"�����
&��	
&� = 6.6  x  BHp 
 5.2 ,�����3���

6��,
����#4����"�  �4�
  Q  �#
0 ��#4����"� (STEAM  RATE) 
   %��"�����
&��	
&� = Q  x  6.6 
           34.5 
  ,"�&�,�3  ������3���
 
    Short  ton O�"
����	����� 2,000  �#
0 /4����"� 
    Long ton O�"
����	����� 2,240  �#
0 /4����"� 
    Metric ton O�"
����	����� 2,205  �#
0 /4����"� 
 5.3 ������3���
������"1�"���/
���1�����&���"��#
 �"��� �
	
&2��#4����"�  (MBH) 
  /4�12��   %��"�����
&��	
&�  = MBH  x  106  x  6.6 
                 33475.35 
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 5.4 ������3���
������"1�"���/
���1�����&���"��#
���
����%��#�
���#4����"� 
  %��"�����
&��	
&�  (Hp)  = Kcal  x  6.6 
           8435.7 
 5.5 ������3���
8-6
	
�L��������"��#
  (Heating  Surface)  ���
������3� 
  /4�12��  %��"�����
&��	
&� = 8-6
	
�L�����"��#
  (������3�) x 6.6 
                �����	
� 
 
8-6
	
�L��������"��#
/,���0	�6�,"0T#�,"�#�#
6��  �4�
  L
�����  	�#��/,v�  	�#����.�  	�#
6��  "
,
��&���

������3� 
 

�����������+��,-� ������	� 

Steam  Generator  (,"�#�#
6��L����#
6���0���.�/�4-6#�8����,��/"
8�0�") 5 
Fire  Tube  (	�#��/"
8�0�") 6 
Fire  Tube  (	�#��/"
8�0�") 8 
Water  Tube  (	�#
6��/"
8�0�") 6 
Water  Tube  (	�#
6��/�"�"
8�0�")  �4�
  	�#
6��T���T#������
	���1�
�o�&��
p&� 7 
,"�#
6������  (	�#��/�"�"
8�0�") 8 
 
8-6
	
�L��1�"L�1���"��#
  (	�#	������#�)  =  ¶  x  D  x  L  x  N  (��.�3�) 
  �"-�# D = �1�
L��]2
& ����T#�	�#��,�-#	�#
6��  (�3�) 
   L = ���"&��T#�	�#��,�-#	�#
6��  (�3�) 
   N = O��
�
	�#��,�-#	�#
6�� 
 
8-6
	
�L��1�"L�1���"��#
  (8-6
	
�����")  =  ¶ D2  =  0.785  D2 
         4 
  �"-�#       D = �1�
L��]2
& ��������"  (�3�) 
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8-6
	
�L��1�"L�1���"��#
	�6�,"0T#�,"�#�#
6��%���2�,"2 
=  (8-6
	
�L����&/
�2�,"2 (	�#��/,v� + (8-6
	
�L�����-#�,"�#�#
6��0��

#�	
�1�"L�1������	
� 2  
    %������	
� 3)  (��.�3�) 
=  (¶  x  d  x  I  x  n)  +  (2  x  ¶  x  D  x  L)  (��.�3�) 
   3 
 
 �"-�# d = �1�
L��]2
& ����	�#��/,v�  (�2�,"2)  (�3�) 
  I = ���"&��	�#��/,v�  (�2�,"2)  (�3�) 
  n = O��
�
�2�,"2  (	�#��/,v�) 
  D = �1�
L��]2
& ����,"�#�#
6�� (�3�) 
  L = ���"&��T#�,"�#�#
6�� (�3�) 
 
6. ,"�#��"
6��"�
  (HOT OIL BOILER OR THERMAL OIL HEATER) 
 6.1 ��5
	������"1�"���  (OUT  PUT)   T#�,"�#��"
6��"�
"
,
��&���
%��#�
�/4����"�  �4�
   
A  Kcal/h 
  %��"�����
&��	
&�  (HP)  = 0.00156 x  A 
 
 6.2 ��5
	������"1�"���  (OUT  PUT)  T#�,"�#��"
6��"�
"
,
��&���
��������   �4�
  B kw 
  %��"�����
&��	
&�  (HP)  = 1.34  x  B 
 
 6.3 ��5
	���#��������,�T#��s�","3
��
&

6��"�
��#
T#�,"�#��"
6��"�
"
,
��&���
������#
��
�	
  �4�
  Q  ����/��
�	
  /,����#35,�2"�%������T#�,"�#��"  (0��
1����/4���
%��0��
����O��/4���
)   
 ( T )  =  20 C°  /,�������"��#
O���8��T#�
6��"�
��#
  (S)  =  0.6  kcal/kg  C°  /,����
6��,
��O���8��T#�

6��"�
��#
  (W)  =  0.7  kg/l  /,����  Eff  =  80% 
  %��"�����
&��	
&� (HP)  = 37.72  x  Q 
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 6.4 ��5
������� \ :     T, S, W  %��  EFF  �"����
����"T�# 6.3 0�������T�����
  %��#�������
�,�T#��s�"
6��"�
�	�����  Q  ����/��
�"
 /,�/4�12����#��

6,�%��"�����
&��	
&� 
  %��"�����
&��	
&�  (HP)   = Q x S x W x Eff. x  T  x  5.613 
 �"-�# Q "
,
��&���
 l/sec 
  S "
,
��&���
 kcal/kg C° 
  W "
,
��&���
 kg/l 
  Eff "
,
��&���
 ���
������1�	7���8T#�,"�#��"
6��"�
 
 ���
���� ��&���#
&01�"���02O�������%��"�����
&��	
&�T#�,"�#��"
6��"�
 
 
7. �����	���-�#�O����#
6�� 
 7.1 Simple  Engine  (12��0
&�) 
  /4�12��  HP = 0.442  D2 
  kl���0����%��"�����
&��	
&���"�����	
�  3 
 7.2 Compound  Engine  (2 12�  ,�-#4
�0�#0
 � �#�1
&) 
  /,��-#�#�T
�0�1�
L��]2
& ����T#��#0
���
��5�  
  /4�12��  Hp = 0.762  D2 
  kl���0����%��"�����
&��	
&���"�����	
� 4 
 /
��5
	
�T
�0�1�
L��]2
& ����T#��#0
���
O30	]
�&" /,�  Interpolate  ,����%��"�����
&��	
&�
/,"� 
 
8. ��
������T#������
��������	 
 8.1 /
��5
	
���
������m30���-�#�����
�0����� 
  8.1.1 ������-�#���
������m30�m8�����-�#�����
�0����� /,���0%��"��	
�  Out  Put  T#����-�#�
����
�0��������
������"����
������ 
  8.1.2 ������-�#���
������m30#&���#-�
0��&  �4�
  m30���-�#�#�0
6��&�0��&  /,���0%��"��	
����-�#�
��
������ 
  8.1.3 "#��#� 	3������&/
�����
�"����O�/4���T#�	����4���,�-#/4���O�����-�#�����
�0
����� /,�
��"���0��"	�6�,"0 
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 8.2 ���1
T��� %�������-�#&�"�T
�0/,v�	
�/4�,"�#
6��	
�/4�������-�#�O����#
6��  /,���0%��"��	
�
���-�#�O����#
6���8
&�#&����0
&� 
 8.3 /
��5
T�# 8.2 ���/4��#
6��O��,"�#
6��1��,���/
���#-�
0��&  �4�
  #��"� ,�-#
l��T���/,���0
%��"�����
&��	
&�	
�,"�#
6��%���8
&�#&����0
&� 
 
9. �����	,�#��&.
 
  ,����"O3 "
,
��&���
��
  
  /4�12�� ���"O3(��
)  = 1  ��.". x 400 ��.  X  60% 
                      1,000  
 
10. �����	
6��%T.� 
  ,�O��
�
k#�	
�L����0���#��
 
  /4�12��   = ¶ d2L  x  N  x  n   �2���]� �3� 
          4 
    ¶ d2 L = T
�0����#�12�
6��&� 
    N = O��
�
12� 
    n = ���"��.��#� 
 1��,���L���
6��%T.�k#�  ft3/10 = ��

6��%T.���#��
 
 1��,���L���
6��%T.����&  ft3/12.5 = ��

6��%T.���#��
 
 
 
6��%T.�  1  k#�   = 
6��%T.�  150  ��. 
 
11. �������"�
���������L��������

6�����	��&%0� 
  ��"	
��0���������/
,��T�#���"��7
���L���
6�����	��&%0�O�8����  ���-�#�O���%��
#3���5 1����v/
���1��0,�-#,
�
6��#�#&  �8-�#
������" � ��
�&�
6��������
���-�#�O���/
1��
	
���
�&�T�#����
������
�5���������L���  �0�%�� 
  1. "
0,"3
1��#�#&  (cutter)  ,�-#  (Knives) 
  2. ���-�#�m
�&�#&#�#&,�-#�40�0#�   (Shredder) 
  3. 430�2�,
�  (Mills) 
  4. �8�1�k#� ��0��#�   (Pressure  Feeder) 



 
12 

 
  ���	���#3�1�,���" Ol��0����,
0%
�	��/
������
�5���������L���T#������


6�����  /,����
"���N�
%��%
�	���0
&���
0��

6 
  12��/
������
�5���������L��������

6����� 
  C = 23.75  x  cn D2L √ N 
           112320  x  f  
  C = ���"�5#�#&	
�,
��0�,
��&���
��
#�#&/��
 
  c = ���1�"���1�	7�/,�"
���   =   1  ��5
�"�"
  Cutter,  Shredder 
  n = O��
�
�#���#
�	
T#��2�,
�kl�����,
0/,�/4�	
�  7  �#�/
�	
 
    (���
6�����	��&T��  n   =   5  �#�/
�	
) 
  L = ���"&��T#��2�,
����

�6� 
  D = T
�0�1�
L��]2
& �����2�,
����

�6� 
  N = O��
�
�2����6�	
�/4�/
%���2�,
� 
  f = ��#� �k.
�1�
/&  (Fiber)  /
�
-6##�#&  ���,
0/,�  =   12.5 %  
                           ���T
�0�2�,
�/
%����4
�0�"��	����
 /,�,���� D2L ��#
 ��"12�� 
  D2L = D2

1L1n1 + D
2
2L2n2 + D

2
3L3n3 

     n1 + n2 + n3 
 
  c = ���L���
6�����	��&T�� 02���O������� ��"O��
�
 Cutter  %��  Shredder 
 

Cutter Shredder c 
1 - 1.15 
1 1 1.20 
2 - 1.20 
2 1 1.25 
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,�����5� /
������
�5���������L��������

6�����	��&%0����
0��

6 

  1. ���/4�12�����
�5���������L��������

6�����T�����
  O�/4�/
������
�5�m8���2�,
�
	
��"�"
�����0��6��8�1�4#� ��0�0#� /
%���2�,
�
�6
 
  2. /
��5
/
%���2�,
�"
�8�1�4#� ��0�0#� O��
�
 1 430  O�	��/,�"
���������L����8��"O��
T�# 1 #
� 5%  ,�-#���������L���O��	����� T�# 1 + 5%  T#�T�# 1 
  3. /
��5
/
%���2�,
�"
�8�1�4#� ��0�0#� O��
�
��6�%�� 2 430Tl6
�� O�	��/,�"
���������
L����8��"O��T�# 1 #
� 7.5%  ,�-#���������L���O��	�����T�# 1 + 7.5%  T#�T�# 1 
  4. /
��5
/
%����430�2�,
�"
�8�1�4#� ��0�0#� �8
&� 1 �2����6� ,�-#���
���� 1 �2����6� /,�"

���������L����0&/4�,�����5� ��"T�# 2 %��T�# 3 
  5. ��0�0#� 	
�����  %��T��0��&�k��"�"
L���#���������L��� 
 
 

�����.������������	
���	
� 
����� 1 KW (�������� ) = 1.34 %��"��  
����� 1 KVA = 1.07 %��"�� (V  =  220  Volt) 
����� 1 KVA = 1.86 %��"�� (V  =  380  Volt) 

6��"�
�k��� 1 ����/4����"� = 2.25 %��"��  

6��"�
��� 1 ����/4����"� = 2.89 %��"��  

6��"�
��
k�
 1 ����/4����"� = 2.99 %��"��  
GAS 1 �������"/4����"� = 3.80 %��"��  
,"�#
6�� 1 BHp = 6.6 %��"��  
,"�#
6�� 1 Metricton = 421.8 %��"��  
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������	� 1 

 

 
HP  Freq  50  Cycle 

 

Height 
Of 
Shaft 
(mm) 

Dist  Between 
Side  View 
Of  Bolts 
(mm) 3000  RPM 

(2  Poles) 
1500  RPM 
(2  Poles) 

1000  RPM 
(6  Poles) 

90 125 2 2 1 
100 140 3 3 2 
112 140 5 5 3 
132 140 7.5 7.5 5 
132 178 10 10 7.5 
160 210 15 15 10 
160 254 20 20 15 
180 241 25 25 17.5 
180 279 30 30 20 
200 305 40 40 30 
225 286 50 50 35 
225 311 60 60 40 
250 349 75 75 50 
280 368 100 100 60 
280 419 120 120 75 
315 406 150 150 100 
315 457 180 180 120 
315 508 220 220 150 
355 552 270 270 220 
355 560 340 340 270 
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������	� 2 
 

   TWO PHASE VALUES   THREE PHASE VALUES 
POWER 

220 V 380 V 
KW HP No Load 

(Amps) 
Nominal 
Current 

No Load 
(Amps) 

Nominal 
Current 

0.37 0.50 0.79 1.98 0.46 1.15 
0.55 0.75 1.09 2.72 0.63 1.58 
0.75 1.00 1.40 3.50 0.81 2.02 
1.10 1.50 2.06 5.16 1.19 2.99 
1.50 2.00 2.72 6.80 1.54 3.84 
1.80 2.50 3.36 8.41 1.95 4.87 
2.20 3.00 3.99 9.98 2.31 5.78 
3.00 4.00 5.16 12.90 3.00 7.50 
4.00 5.00 6.28 15.70 3.66 9.16 
4.40 6.00 7.44 18.60 4.28 10.70 
5.20 7.00 8.48 21.20 4.92 12.30 
5.50 7.50 9.04 22.60 5.24 13.10 
6.00 8.00 9.52 23.80 5.52 13.80 
7.00 9.00 10.56 26.40 6.12 15.30 
7.50 10.00 11.60 29.00 6.72 16.80 
9.30 12.50 14.28 35.70 8.24 22.60 
11.00 15.00 16.80 42.00 9.72 24.30 
15.00 20.00 21.88 54.70 12.68 31.70 
18.90 25.00 27.00 67.50 15.64 39.10 
22.00 30.00 32.00 80.00 18.52 46.30 
26.00 35.00 37.00 92.50 21.40 53.50 
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������	� 2  (���) 
 

TWO PHASE VALUES THREE PHASE VALUES 
POWER 

220 V 380 V 
KW HP No Load 

(Amps) 
Nominal 
Current 

No Load 
(Amps) 

Nominal 
Current 

30.00 40.00 42.00 105.00 24.32 62.80 
33.50 45.00 46.80 117.00 27.16 67.90 
37.00 50.00 52.00 130.00 30.08 75.20 
45.00 60.00 62.40 156.00 35.84 89.60 
52.00 70.00 72.00 180.00 41.60 104.00 
55.00 75.00 76.80 192.00 44.40 111.00 
60.00 80.00 81.60 204.00 47.20 118.00 
67.00 90.00 91.60 229.00 52.80 132.00 
75.00 100.00 101.20 253.00 58.40 146.00 
90.00 125.00 124.40 311.00 72.00 180.00 
110.00 150.00 147.60 369.00 85.60 214.00 
132.00 175.00 169.20 423.00 98.00 245.00 
150.00 200.00 192.80 482.00 111.60 279.00 
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������	� 3 
 

�����.��2��34�
56�������46.4� (��,�) �������	��������+��  (HP) 

6 16 
7 22 
8 28 
9 36 
10 44 
11 53 
12 64 
13 75 
14 87 
15 100 
16 113 
17 128 
18 143 
19 160 
20 177 
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������	�  4 

 

�1�
L��]2
& �����2�12��#0
 
(
�6�) 

�1�
L��]2
& �����2�12��#�1
& 
(
�6�) 

%��"��	
�����"�
�0� 
(HP) 

6 10 25 
7 10 35 
8 12 49 
9 14 62 
10 16 77 
12 18 110 
14 20 150 
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���%���,
��& 
 
1. ���%������/
,
��&���"&�� 
 
 1 �"�   =   1.609  �����"��  =  1,609  �"��   =  5,280  �3�   =   6.336 x 104  
�6� 
             =   1.609 x 105  �k
���"��  =  1.609 x 106  "�����"�� 
             =   1.609 x 109  �"����"��  =  1.609 x 1012  
��
�"�� 
             =   1.609 x 1013  #��1��#" 
 
2. ������
&��	
&�,
��& 
 2.1 8-6
	
� 
  1  ������"�� = 10.764  ������3� 
 2.2 "�� 
  1  �������" = 2.2046  �#
0  
 2.3 ���"��� 
  1  �2���]� �"��  = 35.315   �2���]� �3� 
  1  ����   = 1,000  �2���]� �k
���"�� 
 2.4 ���",
�%
�
 
  1  �#
0 /�2���]� �3� = 16.019  �������"/�2���]� �"�� 
 2.5 %�� 
  1  
����
 = 1  ��."./�
.2 = 2.224  �#
0  
 2.6 ���"0�
 
  1  ���&���] = 14.64  �#
0 /�����
�6� = 1.033  ��./k"2 
    = 1.013  ���   =  101.3  ����
����
/������"�� 
    = 2,116.2  �#
0 /������3�  =   101.3  ����8�1��� 
    = 29.92  
�6���#	 =   760  "".��#	 
    = 33.9  �3�
6��   =    10.33  �"��
6�� 
  1  ���    =    14.5  �#
0 /�����
�6�   =   105  
����
/������"��  =  0.1  �"��8�1��� 
  1  �������"/������k
���"��  =   14.225  �#
0 /�����
�6� 
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 2.7 8�����
 
  1  O2�  =   1  
����
-�"��   =   1  ��.-"2/�
.2 
  1  ����O2�    =   1  �������� -��
�	
  =  0.947  �
.	
.&2.  =   0.239  ����%��#�
 
         =  737.56  �3�-�#
0  
  1  �
.	
.&2.      =    1.055  ����O2�  =   0.252  ����%��#�
   =   778.16  �3�-�#
0  
  1  �������� -4����"�    =   3.60  x  103  ����O2�   =   2,655.2 x 103  �3�-�#
0  
           =   3,412.2  �
.	
.&2.   =   859.86  ����%��#�
/4����"� 
  1  ����%��#�
  =   4.187  ����O2� 
 2.8 8�����
  (��#,
��&����) 
  1  ����   = 1  O2�/��
�	
   =   3.412  �
.	
.&2./4".   =   0.859  ����%��#�
/4". 
    = 1.341  x  10-3  %��"��   =   0.737  �3�-�#
0 /��
�	
 
  1  �
.	
.&2./4". = 0.293  ����    =   0.252  ����%��#�
/4".  =  3.93 x 10-4  %��"�� 
    = 0.216  �3�-�#
0 /��
�	
 
  1  %��"�� = 550  �3�-�#
0 /��
�	
  =  2,545  �
.	
.&2./4".  =  746  ����  
  1  ��
���"�&.
 = 12,000  �
.	
.&2./4".  =  3.516  ��������  
  1  %��"��,"�#�#
6�� = 9.806  ��������  
 2.9 8�����
��#,
��&8-6
	
� 
  1  ���� /������"�� = 0.317  �
.	
.&2./4".-������3� 
     = 0.859  ����%��#�
/4".-������"�� 
 2.10 #35,�2"� 
 
  #�]��k
�k
&1  (C) = #�]���� ��
���  (F) -32 
   5         9 
  
   #�]�  R  = #�]�  F  +  460 
   #�]�  K  = #�]�  C  +  273 
   #�]�  K  = 5  #�]�  R 
      9 
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 2.11 ���#���������
-�#�O��%��0l�020T#����  (g) 
  =   32.24  �3�/�
.2 = 9.81  �"��/�
.2     = 981  k"./�
.2 
 
3. ������"��#
T#��4-6#�8���%T.�	
����	��� 
  - ���
,�
 4,500 � 7,500 ����%��#�
�/�������" 
  - ����
	  3,000 � 5,000 ����%��#�
�/�������" 
  - ���
�"� 6,700 � 7,500 ����%��#�
�/�������" 
  - �n
  3,000 � 4,000 ����%��#�
�/�������" 
  - 4�
#�#& 2,600  ����%��#�
�/�������" 
  - %���  3,400  ����%��#�
�/�������" 
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������.�����������	
���	
������������,-��9����� 
 

100 "3 /4". 
(1,667 �3/
�	
) 

* 150 "3 /4". 
(2,500 �3/
�	
) 

200 "3 /4". 
(3,333 �3/
�	
) 

250 "3 /4". 
(4,167 �3/
�	
) 

    T
�0T#��st"
6��"�
 
             ���"���/���� 
L����� 
T#�#35,�2"�  
(�T��-##�) °C 

%��"�����
&��	
&� 
T#�,"�#��" 

%��"�����
&��	
&� 
T#�,"�#��" 

%��"�����
&��	
&� 
T#�,"�#��" 

%��"�����
&��	
&� 
T#�,"�#��" 

10 °C 594 892 1,188 1,486 
15 °C 892 1,337 1,783 2,229 
20 °C 1,189 1,783* 2,377 2,972 
25 °C 1,486 2,228 2,970 3,715 

 
��5
���

6��"�
  �����	
�T#�
6��"�
 (������"��#
O���8��) = 0.6  Kcal/Kg. °C 
   �.8. (
6��"�
) ���"�5  (���",
�%
�
)  = 0.87  
   ���1�	7���8T#��st"
6��"�
   = 80  % 
   ���1�	7���8���1��L��
���"��#
  = 90 % 
   %��"�����
&��	
&�  1    = 10.54  Kcal/min 
  L�����T#�#35,�2"�T#�
6��"�
 ��#
�T��,"�#��"%��##�O��,"�#��"���
  °C 
12��  Q  (���"�5���"��#
	
�
6��"�
��&##�)  =  Lx  L�����T#�#35,�2"� x 6 x 0.87 x 0.8 x 0.9 (Kcal/min) 
              Min 
 
 
 
 
 

���
���� 1. �0&	�����,"�#��"
6��"�
O�"
���  (T
�0T#��st"
6��"�
  150 ".3 /4".   
     ,�-#  2,500 ����/
�	
  %��L�����T#�#35,�2"�
6��"�
�T��-##� 	
� 20 °C)   
     %��"�����
&��	
&����
 1,783  %��"�� 

  2. ,��/4�
6��,�-#1��#-�
%	

6��"�
%���  O���#�������� �.8. %��������"��#
O���8�� 
 

 
*   %��"�����
&��	
&�T#�,"�#��"   =         Q 
                          10.54 



 
23 

�������"�
������1
12�130T#����
1
T���  
,�
T���0�� ��%����&� 

��0��� 
��%����,�
�&" 
T���%��� 

��%����,�
�&" 
T���1�� 

��%����,�
�&"
T������-#� 

��%�����" ,�
8#�����84� ��
������ ��&���#
&0 
 
 

���
&
/��
 
T
�0
�6� O�� 


�
 
4�#� O�� 


�
 
T
�0  

�3� x �3� 
O�� 

�
 

T
�0  
�3� x �3� 

O�� 

�
 

T
�0  
�3� x �3� 

O�� 

�
 

T
�0  
�3� x �3� 

O�� 

�
 

T
�0
�6� O�� 

�
 

%��"�� O�� 

�
 

4 18 1 12 1 1.5 x 6 1 1.5 x 6 1 1.5 x 6 1 - - 8 1 8-10 1 
5 20 1 14 1 1.5 x 6 1 1.5 x 6 1 1.5 x 6 1 - - 10 1 10-12 1 
6 24 1 16 1 1.5 x 6 1 1.5 x 6 1 1.5 x 6 1 - - 18 1 12-15 1 
8 26 1 18 1 1.5 x 6 1 1.5 x 6 1 1.5 x 6 1 1.5 x 6 1 10 ,�-# 

   20 
2 
1 

15 1 

10 28 1 20 1 2 x 6.7 1 2 x 6.7 1 2 x 7 1 1.5 x 6 1 12 2 20 Tl6
��  
12 30 

20 
,�-# 22 

1 
1 
1 

24 1 2 x 7 1 2 x 7 1 2 x 7 1 1.5 x 6 1 15 2 30 1 

15-16 30 
24 

1 
1 

30 1 3.5 x 7 1 3.5 x 7 1 3.5 x 7 1 2 x 8 1 16 2 36-40 1 

20 36 
24-26 

1 
1 

36 1 4 x 8 1 4 x 8 1 4 x 8 1 2 x 8 1 18 2 45 1 

25 42 
30 

1 
1 

48 1 4 x 8 1 4 x 8 1 4 x 8 1 2 x 8 1 24 2 45 Tl6
�� 1 

30 42 
36 

1 
1 

48 1 4 x 8 1 4 x 8 1 4 x 8 1 2 x 8 
1.5 x 6 

1 
1 

26 2 35 1 

35 42 
36 

1 
1 

48 1 4 x 9 1 4 x 9 1 3.5 x 7 1 2 x 8 1 26 2   

40 42 2 22 2 4 x 9.5 1 4 x 9.5 1 4 x 8 2 2 x 8 2 26 2   
60-70 42 

30 
2 
1 

30 2 4 x 9.5 1 4 x 9.5 1 4 x 9.5 1 2 x 8 2 20 4   

���
����  1. ���-�#�1
T���1����.O�2�T
�0��.� O�1
T����0����"�5 1-3 ���
&
/��
 �0&���,
0��"T
�0%��"�� �-# %��"����6�%�� 1-5 %��"�� 1
T����0� 1 ���
&
/��
  10 %��"�� 1
T����0� 2 ���
&
/��
   
���
 10 %��"��Tl6
�� 1
T����0� 3 ���
&
/��
  2. ���-�#�1
T���"���N�
 #3���5 T#����
1
T���	
�1����v/
���8�O��5�������1
"
 ,�
T���0�� ��%����&���0��� ,�
8#�����84�%�����-�#���
������   
(�����"�0&
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1. 6���������������
����
�� 
 
 1 �"�   =   1.609  �����"��  =  1,609  �"��   =  5,280  �3�   =   6.336 x 104  
�6� 
             =   1.609 x 105  �k
���"��  =  1.609 x 106  "�����"�� 
             =   1.609 x 109  �"����"��  =  1.609 x 1012  
��
�"�� 
             =   1.609 x 1013  #��1��#" 
 
2. 6�����	
���	
�����
 
 
 2.1 ;�,��	� 
  1  ������"�� = 10.764  ������3� 
 2.2 ��� 
  1  �������" = 2.2046  �#
0  
 2.3 ������� 
  1  �2���]� �"��  = 35.315   �2���]� �3� 
  1  ����   = 1,000  �2���]� �k
���"�� 
 2.4 ����������� 
  1  �#
0 /�2���]� �3� = 16.019  �������"/�2���]� �"�� 
 2.5 ��� 
  1  
����
 = 1  ��."./�
.2 = 2.224  �#
0  
 2.6 �����9� 
  1  ���&���] = 14.64  �#
0 /�����
�6� = 1.033  ��./k"2 
    = 1.013  ���   =  101.3  ����
����
/������"�� 
    = 2,116.2  �#
0 /������3�  =   101.3  ����8�1��� 
    = 29.92  
�6���#	 =   760  "".��#	 
    = 33.9  �3�
6��   =    10.33  �"��
6�� 
  1  ���    =    14.5  �#
0 /�����
�6�   =   105  
����
/������"��  =  0.1  �"��8�1��� 
  1  �������"/������k
���"��  =   14.225  �#
0 /�����
�6� 
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 2.7 ;�9���� 
  1  O2�      =   1  
����
-�"��       =   1  ��.-"2/�
.2 
  1  ����O2�   =   1  �������� -��
�	
  =  0.947  �
.	
.&2.       =   0.239  ����%��#�
 
        =  737.56  �3�-�#
0  
  1  �
.	
.&2.     =    1.055  ����O2�      =   0.252  ����%��#�
    =   778.16  �3�-�#
0  
  1  �������� -4����"�   =   3.60  x  103  ����O2�     =   2,655.2 x 103  �3�-�#
0  
          =   3,412.2  �
.	
.&2.            =   859.86  ����%��#�
/4����"� 
  1  ����%��#�
       =   4.187  ����O2� 
 2.8 ;�9����  (�������
����) 
  1  ����   =        1  O2�/��
�	
   =   3.412  �
.	
.&2./4".   =   0.859  ����%��#�
/4". 
    =        1.341  x  10-3  %��"��   =   0.737  �3�-�#
0 /��
�	
 
  1  �
.	
.&2./4". =        0.293  ����    =   0.252  ����%��#�
/4".  =  3.93 x 10-4  %��"�� 
    = 0.216  �3�-�#
0 /��
�	
 
  1  %��"�� = 550  �3�-�#
0 /��
�	
  =  2,545  �
.	
.&2./4".  =  746  ����  
  1  ��
���"�&.
 = 12,000  �
.	
.&2./4".  =  3.516  ��������  
  1  %��"��,"�#�#
6�� = 9.806  ��������  
 2.9 ;�9�����������
;�,��	� 
  1  ���� /������"�� = 0.317  �
.	
.&2./4".-������3� 
     = 0.859  ����%��#�
/4".-������"�� 
 2.10 ��B�C4�� 
 
  #�]��k
�k
&1  (C) = #�]���� ��
���  (F) -32 
   5         9 
  
   #�]�  R  = #�]�  F  +  460 
   #�]�  K  = #�]�  C  +  273 
   #�]�  K  = 5  #�]�  R 
      9 
 2.11 ����9�������������D�6����E��4������6  (g) 
  =   32.24  �3�/�
.2 = 9.81  �"��/�
.2     = 981  k"./�
.2 
  


